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= 206,500 2,000 204,500
Al 52,320 105,292 A52,972
T 674,602 346,760 327,842
TANEE =4 812,112 330,064 482,048
= 206,500 2,000 204,500
Al 52,320 105,292 AB2,972
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Al 47,000 99,972 AB2,972
T 445,532 111,372 334,160
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Al 29,000 31,118 A2, 118
T 31,118 31,118 0
201 224l 4,382 6,000 21,618
Al 1,382 3,000 21,618
- 3,000 3,000 0
01 At22t2l bl 4,382 6,000 21,618
OH=Zdl & M=d 78 A3EFE 4,382,000& 4,382 6,000 21,618
Al 1,382 3,000 N1,618
T 3,000 3,000 0
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Al 0 500 A 500
T 500 500 0
05 RIZt2IE = 500 1,000 A 500
OZHNENESH 2 & 500,000 500 1,000 A 500
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Al 18,000 50,000 A 32,000
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33 3,780,000% 3.780 4,200 £420
203 YR =T 2,700 3,000 A300
e EEEST 2,700 3,000 £300
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2 205,000 0 205,000
- 335,000 0 335,000
01 Al Hl 540,000 0 540,000
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2 205,000 0 205,000
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JBAERT 2L 84,360 85,400 A1,040
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201 Yer2 | 24,000 25,000 A1,000
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01 SLHOYI 1,500 2,000 A 500
O et 2l ol & & 1,500,000& 1,500 2,000 A 500
= 1,500 2,000 A 500
SAAHEANEZE Y 22 23,400 26,000 A 2,600
201 LEt2A | 23,400 26,000 A 2,600
01 AtR 2t 2l | 23,400 26,000 A 2,600
Oder=gH (0l arE2) 18,360 20,400 ~2,040
o ZAHE2EZNZ(MAEY)
Z& 7,920,000 7,920 8,800 A 880
o TAIAEYEZ S JIZXZAHI(GIAEZ)
Z& 9,000,000 9,000 10,000 A 1,000
o SAAHEZHAS MR (MAEZ)
2 & 270,000& 270 300 A 30
o SAHERAS KRASHE L S (0
AEY) Z& 1,170,000 1,170 1,300 A 130
OZAMHERAS 2L (0aE2)
Z & 5,040,000 5,040 5,600 A 560
HE 2L (T AIAHE D) 27,110 29,788 AN2,678
Jl2Zdl (S AIHE D) 27,110 29,788 AN2,678
Jl2Z8l MSAY (S AIHE D) 27,110 29,788 A2,678
201 LEt2A | 14,606 16,228 A1,622
01 At 2teltl 14,606 16,228 A1,622
OLer=gH (0l arE2) 33 8,254,800 8,255 9,172 A917
O=gbl(MaZEZ) Z & 6,350,400 6,351 7,056 AT705
202 044l 9,504 10,560 A 1,056
01 SLHOYI 9,504 10,560 A 1,056
OsZAdI(0laE2) & & 9,504,000& 9,504 10,560 A 1,056




